A5H

7H K 8H (JK) 9H (K) 108 (£)
A Bmb —A&EY | |#zs Bmd —A&Y | |#xs Bmb —A&Y | |#za =4 E —AHY
EkRDE EkHE EkHE ERNE
i EDAAY 60| | |HEEK(ER) N REINEEEYE TS 700 |V [y /Iy 40
B |ttt o B [kE AR 10| S [k#E F5 10| B [@avsisy F 50
; s (=B 5 [E CHBE M EEL hvk 12 % :I;
%= = BXE 4 |4 |ommm ee s o 8 43, 206| |~ |[£E 206
i |BIE R 04| | . [EE 1 (& %
¥ [HEFTEY 1 (& [@ES 5 |3, |CR)SEDERIT N 50| v [RAETFL0N—D) 35
VAN A b EsyoRkE 15 R SIXDERIT 70| |~ [BpTE 1.5
S 206| (Y [AB 5/ | R |R—ay 2542 5
~ |55 1| [IF [FeRy 35 {K A hEYLEs 10
;FL CR) AFF 30 ® L&SKW 3 g RFvIRAES & 15 i G END Ef 10
Fh¥F 35| |z (WOHE(LBEH) 1 R R—a—y 5 RTEZY 10
B lebroskE f—n 15 Bis 08 |1+ |L&SKW 25| (&£ |[BARESHE 2
AE 10| |px BEE 2| 7 |[ELFE 40
¥ |FFUHA 15[ |9 [4EL 206| |R [k 1 (LB bRRKE 25
DLl R54R 4 & T |BECERE 1| 8 L&l 10
?|< (&) [FBE8 3 |[=  [BFEH RS54 30 ‘7‘{ WYBIE 1|2 Az 10
- £= 05 'g‘ CAITHL RE 35 z i‘f I2A1= 0.3
YA 05| | [ELZIES 3B |7 2B 30| | |HZFH 2
# [(LRABR=T 4 |l |AZ 15 | |HiBF 5 |5 [FRETZFryT ke 5
= |LLd 2| 14 | CRSPVAIFA |15 |[EtF 25| |57 |EBAESHE 5
v |BiE 0.6 Y55 il o [AB 10| [4 [2RE—Y—XR 1
7 [ZLs> 003 |%F L&KW 5| [S [t 5 BbiE (L) 1
E N 03| [* |[AHYA 2| |F  [saz 7| |1 &k 0.4
5 B 120 f'_){, B4 (ch i) 2 l'; H#Hz 6 ,";’ Ls> 0.05
o > =9} 5] | ELETL 4 7 |EEravys e 0.3
| [E)BEEIVIR 1 g [TA® 05| |, |X 120] |1, |=BRESABL 0.01
U e 30| | [EELETFL 1] > 4  [#BF—X 3
~  |E®3Y 10| [ |K 8| | >
T @) k—La—y 7 » A E S 2 30
D \BYETE 1] [ ez 25| [% ZpS5Y 15
# e 3 2: £0L 35| | ’iz‘ () k—La—> 5
L&SW 3 |5 AS o | # FINTUAH 3
RhHE () 15| |4 [L&IW 25! | PN T S 6.5
ZFih 05| |1 REE 15| |& A
Y545 05| (R [fEEMDE 1| | % INEHMA 20
i+
& TIN—> 7 B HMAT2—R 125




A5H

130 (A) 148 ) 158 (k) 168 (K) 178 (£)
#rI B = E —A&Y | |#z% BRf —AN&Y | |#us B4 —AN&Y | |#iz% B4 —A&Y | |#xs BRf —A3HY
E%RDE ERDE RS E ERDE ERDE
Yo | BEXER) 65| |B (®)hEZIE M~3 150] /N |[FEEEXKX(ER) 70| | [HEXEK) NREINE A 60
AET SRS 15 | ¥ [ hEzE ma~6 2000 |V [kEE B 10| |&  [gure—z@®) 10| |[#i
P [OISE X5 15 (';{ & hEZE f_250 ; EB Z5MR 20 % B 15 ffi 43 206
4 KEER—La—Y 10f [~ BHEE RSM4R 20 | % Lohinrg 45| | S |BIR 08| |,
~ | TEEET 10f 35 [L&DW 1|z |ERE 45| |3 |ELEA 1 BA svF 20
% |BIE 0.5 ] 05| |~ |AB 10| (4, 4 |RKEKE 35
F (LI 2| |4 |CREVLL faff 10 | |ZUVXE 6 &3 206| (3L [LehLrE 55
X [EE 1[R[ EXY 10 [ |[BFUE—R 6| |4 FEhE 40
KX |£LE# 1 EE 15 |IF |izalz< 03| |7l |meshur B EHL 12| |F (LR F=RKE 8
]U\ S [DISET R 200 [N [954m 1 | [mesor e gL 8| |V [izal=< 1
= 206 | 2 |y 30| [T |[hEHERAH) 5 gy [BE 1 S D) 08
o[l 15 |4 [$55H 2| |3 [mom 20| |3, [#35 1
4 |TASS 8 |1, |AZ 10f |z |HENE— 3| |g  |®EBER Yoo 15 |1 |7 FevT dkg 6
2 |EDEDLID Huk 12| | |wbrdooks k- 10 (LR FRRE2—L 10| (o |ERE 30[ | |EDEE(RINEE) 15
(LR EFQKE H—L 15| |I& |$PRF 5 B (LR ERRKE 10 |BR  |AZ 10 JRE—Y—R 1
£ |HEWIIES 10| |5 |&£= 1| ' [Lhasz—F 4| & [BSPBLAITTA 7 B |[FEAESHE 1
H o [oECAlzw 10| [# [#543H 1| [P [FERESE 2| [ [Lufir 2542 4 B |zeravva m-mex 0.5
g AS 7 ; LeSH a7 [2rs—y=x 2| .. [Lesw 35 2 BiE 03
o HuBcE 12 |whstszr—7 4 BiE 1 ,ﬁ s (SR 3 |y (RS — 0.05
= |=FEH 0.5 BiE U [ELsD 007 |4 |BiE 03l |5 |& 30
A [LESR 32| |z [SL&S 003| | |EbHECLEHE 05 FELHIYET e 2| |5
| B (e 16| |=  |x¥oaovvs o-miks 05| |F [Fxravys si-mixs 04| [~ & 50 Fyy 35
5 | AHYA 1 |+ [SFh 03| L [»5L¥ 0.15] || F |E3Y 15
Lt 5| [ |28 0.1 o—yx ol] |7 [Ew=F 20| || [ EHNA 20
# b TAH 1 FHREF—X 1 & (LR =3 DZAE H—IL 15| | R ILUFELYLLY 10
7; FhE 35 5 130 2 so| || [mnx 3
B g 5 4|’L () FLbhd Hvk 0.5 (A F—X #3841t 15
= ZDEIT 5 4, 206 L aah 206| | 4 L&KW 1
o |AB 8 L EE 1
# |HFhFE 5 SoFENEAvE AYY 55 FrRy 20| [~ |BE 0.6
7 & Flbhe huk 0.4 =133l 3 ) Zayal)— 20 FELAEIVE EEikE 4
T (haz 7 FHEHDEIE 4 EpSY 10 i 135
_ |#Eaz 6 BoRE (=888 1 AB 5
; ZLE® 0.5 B 0.6 (#®)=3ax—X . 8 ()Y —99—H—RILk 30
5 ZLAEIVET fFikE 4 L&L5KW 0.5 (B)v3axr—xX B 10
2z K 125 % 1
¥ INEFL 4
v (®)SvHRFYY /v 10 i e 30
VJ (B)ISYIRFTYY 15




A5H

208 (H) 218 (R) 228 (7K) 238 (K) 248 (%)
#hI B = E —AZEY | |#xzs =4 E —AZBY | |#se BR% —A&Y | |#zs B4 —A&Y | |#is BRf —AHy
E%RDE ERDE RS E ERDE ERDE
EREEEYE ) 0| |7 HEEkER 0| B [HBEXER) 70| |¥ |HEEXER 70| [ [ayRiSs L) 60
S [z = o || iz s w0l |5 bz =% of (4 ek 0] |
. 5 |mn—ay 2942 5 | 7 [BEE 2542 5] |7 [£4 206
anal 206| |, |owms w sl v 12 43 206 & H£= 08| .,
3 E CAEBA b BmAEL Huk 8 4 A L&KW 1.2 N 08—y BHBIE LA 1N 60
2L CR)ALIL— FEYY 93| |5 BAESHE 1] 13 HH RTA4R 30 (LB 0.8] || OB Ny BB KA $ 80
B 2l |7 | ERFE 20 Cohing 80| |4 |wmazriy cm@ 20| |4
A (BiE 02| [~ |AZ 10 |A [EwZE 50[ 2L |AZ 71 |1 [FeRy 30
D [ZLs> 003 |E |ZTUvX Huk 8| [ |o&cAlzel 25 TERE 5 AS 5
B [cam Al |N - [ChErg 51 [* Az 10 Z\ BHYETE 2| | [@wrerrrows N~4 8
if X 3 i [2AIZK 0.8 ) B SHPVAITA 5 1% CEH 2 # (OPYr FryT &TRE—K N5~ 8
© et 5 54 i 14] |y [#35m i| 5 [&=E 2| |5
»n |AE 5 |4 |HENE— 06| |¢p L&D 4 |7 L& 15 || |@z54z5—xom 20
T [ EFE 15] |3, |zxeavyx s-mie 07| |~ |BoEE(HRIUEE) 3 | (B 0.6] |~
Y545 0.5 BiE 09| |IL [FEE 3| [P |z:xravys zi-mims 06| [# |8~—av 2542 8
T |BE 35| [ [cLx> 0.04 Bis o1] |V o R sY—La—y 20
5 |wECEaR 35| |~ & g 5| |2 &2 206| || [@®) k—pa—y 5
g L&aSK 1.2 (i 43 206 7;)\ L [Epx 20
o |TAM 03 |3 AR ET0 20| |5 [ZRASHR 20 |7 A2 10
w B 4 |y [Ee3Y 15 FrRY 20| [+ |Zw5Y 25 |5 |ZUv¥ Avk 8
< 4 |AZ 5/ |, |/MAE 20| (5 |E)ER—Ia—2 50 |] AN 0.5
(R ZELED 20| |5 B HATES 5| |4 B BLERLyL T D BiRE 10| |58 ERAFLY Y Y IL i 10 Y55 1
& |wTihE 01| |% |[EusESR 05| |+ - INEB (5B h) 4
X (S RAFLYL LY 5L EE 10| | ¥ (8) KEASUYUMI(T 25 ?L (A)R—aY RFLR 5 i/ N\ 53— 1
1B lhig s 5| |9 7 o [Wh>Fm 25 455 2
gi EAIR s ¥ [ EE Aok 20| v @) 8q 35| L, [EeE 15 (LR ABR—F 4
z AS 10] | 00 20 (88) /814> h 50| | | FUHUYA 8 FEoavvsi 5B 05
G |[RoErd 7 Fh¥ 25 1 Az 5 BIE 06
HE 5 |3 [FyHu¥A 5 D |(F)FBEH 5 ) 0.04
B |PHE 7 (1 Y545 05 ? EFLLLET R54R 0.8 Oo—1)T 0.1
T |HA&E 6| [ |[LRASR—=T 4 — Y55 0.5 43 GRER) 30
L ELETL 4| [V L&L5KW 0.5 (LM BHR—TF 4 E9)—L 2
~ K 120 | [zxoavys smiss 05 N |BE 0.6 s 75
3‘; o |ms 0.6 # [cLs> 0.03
A #wEL 3 o cL&S 0.03 A L&KW 0.5
_ #  |[cAt 0.2 Y lexoavyus s-miss 0.3
- |cEm 0.1 T CEil 0.3
) 120 £ b 120
v
(E)3—4 Lk #oskik 70 N (B)INEAAYT—EVE 8
th
)
P




A5H

218 (H) 28H (K) 29H (JK) 308 (K) 31 (%)

R4 BR% —ABY | |#ze =k —AN&Y | @z BR% —A&Y | |#izs BR% —ABY | |#is BER% —AZY
EXRDE ERD=E ERS = EERDE EXS=E
B [maxX(E® 70l 7 (@ 12 50| [P [#Ek(ER) 0| (B |[BaxE® 70| % |mEkE® 65
T |[xkuzE =% 0] |7 [@avRigy 34 60| |V [kEiE B 10| [ [kEiE 5 10| Y [Ezx 15
/)f; BRAhvh B EAL 15 ;\\ () ayR/v 5-64F, B1 70 //\ LTEZY 10] |& § R)BE B EEL hub 12
5 |BEnvh bt EHL 10 5 5 HAESHE 1 43| 206 0) GR)EBR bt EAL Ak 8
y 3550 30| [~ [4E 206| |y |EEEY1F— Aok 10/ (4 e |[WYURS 10
~ | ERF 50 [s¢ ~ |ERE 20| [z, |BREQ_SvF 15] | |d#&T 5
= [AB 15| |A  |B)EZL -2 35| [ [(LR)R=EKE 14 REFTE 85| [{A |PECAICHL 7
Z |hhE 5/ 1Y |GREZL h3~6 50| (A |AB 7| |8 | ERE 30| |# |AB 10
Lty 2542 4l |~ [CEZL d70| [Y |€OU— 5| |12 Az 0] |S |45 038
A Lesw 5 B 2| = [BFULE—2R 5| |2 [Furoy4 10| & [Lesw 3
< [2aYAa 3 f'i B 02| |, [EE/5— | B |epz 3| |V [BE 2
. Ly A= Ei ) 2| |7 TAH 5 |z Y55 |z |[@Fiey 2542 1 % Wi (e 1.5
3, |BiE 05| |x |[Gf=Aail 4 BAESHE 1|z [£E= 05| |3 |BiE 0.8

TAt 05| [ [GRILEVEA 4 | |zEravvs semin 07 |# [ISAI< 01| |%
Iz [FELEIVE 5k 2] (L |mEECEER) 4| |1 BiE 08| |1 [SFid 1| |k |4E 206

A |B 60| D [L&LS5W 3| |~ [EL&S 003 |» |&kKHF 65| |A
C L | Z#YA 1| | A [=mEESABL 001| | & [BE(=EH) 3| [V [Tass 7
g 43, 206 | [cat o3| ¥ s [BE 2| ¥ [EwmFLAR 7
® y 7 |EL 206] |7 [LeSW 2| |, [A2 10
Y AS 25| |1 Lohirg 55 % —RESHHL 0.02| |z WYBIE 1
Y [2e3Y 15| |z [AZ 5| [ [CA)Tmvay— 15| |3 |cAaw i (8) %14+ B 7 05
n |[ERE 5 W Tif 12[ |52 |[Zp3Y 20 7K 20| [gp |[SEih 0.5
() k—JLa—> 5| |# 2 |E)HR—)La—> 5| |& Y L&SK 2
S (S BRMTERLY LY 5L 10] [ A)R—ar RFM4R 5| |D (LM Iy RE—2X 10| | & INAEE 20| |+ ARHYA 1
?PS z EFh¥FE 25| |2 |eommesrsey s 10| |Y oL 35| |L oL @=L )] 0.5
v [GAEkE ol ' [As 5 j', o s 7 zé Ut 20

. TAH 1 FrRY 25 A)R—ar R5AR 8| |= |[BYBIFE 1 o
x 7;1':#3593 2 I\ l./&)l: 5 E |/’>-'X 20 - () /oA AT OEFL - BBihE 10 ,ﬁ Eng 20
LY FAT 2| |v  |(LR) b=k 20| |z, |EFE 15| | IR Lt 1v 10
BIE BMX 01| |+ JAS 4] 05| |77 [AB 10{ A (LhHsYmE 10 FhE 5
s (= BHE) 2| |R (LR HBR—TF 4] (V) THA= HEF 5| |A z Z5HA 5
& 001] || |zxoavys smms o5 |¥  |&& 06| |2 |wEarari—xz 125| |3 |[BiE 05
7 [Lesw 05 cL&> 003] | N [T 0.6
¥ (i) 05 Led0 os| | /-‘F FELEIYE @i 5
BiE 0.3 (LR HABR—F 4 ! b 130

ZL&S 0.03 FEoavyA -IEE 0.4 [
7K 120 % 125 R RFDNE 5

N

CENEE M 40 2t

th

)

&




